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L.h) | Find the divF and curlF where -
F = grad(x®+ y3 + z° — 3xyz).
1.1) |State the Green’s theorem. L2 | CO5
L) |1t F= 3xyl— y?J, Calculate, h F.d7 where
‘C’ is the curve in the xy-plane y=2x" from (0,0) L3 | CO5
to (1,2).
PART -B
Max.
; BL | CO .
UNIT-I
2 | a) | Solve the differential equation L3(CO2| 5M
xy(1 + mevw =1,
b) |[Find the solution to the differential| L1 [CO4| 5M
equation. ye*dx + (xe*¥ + 2y)dy = 0
OR
3la) A bacterial culture, growing | L2 [CO4| 5M
exponentially increases from 200 to 500
grams in the period from 6 am to 9 am.
How many grams will be present at
noon?
b) | Calculate the general solution of the|L3 |CO4| 5M
differential equation -
(yvlogy)dx + (x — logy)dy = 0.

- en
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UNIT-II
a) | A condenser of capacity C discharged| L4 [CO2| 5M
through an inductance ‘L’& resistance R
in series and the charge ‘q’ at time ‘t’
satisfies the equation
L m.w +RZ2+2=0, given that L=0.25
henries, R=250 ohms and
C = 2x107° farads, and that when
t=0, charge q is 0.002 coulombs and the
current m = 0, obtain the value of ‘q’ in
terms of ‘t’.
b) | Solve (D? + D + 1)y = (1 — e¥)?. L3|CO2| 5M
OR
a) | Calculate the particular integral of L3[|CO2| 5M
(D3 + 1)y = sin(2x + 3).
b) | Solve (D? + 4)y = tan2x. L3|CO2| 5M
UNIT-III
a) | Solve the partial differential equation L3|CO2| 5M
(D2 —2DD' + D'?)z = **V .
b) | Determine the solution to the equation L3|CO4| 5M
xp-yq=y-x’.
OR
2
3) | Solve ﬁﬁ + xzq = y*. ks [GRe] D
b) | Form a partial differential equation by| L2 |CO2| 5M

eliminating the arbitrary constants from
the differential equation of all spheres
whose centres lie on the z-axis.
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